PARTS LIST FOR

ITEM 58430

SUBARU
IMPREZA WRC 2002

1/10 SCALE R/C 4WD HIGH PERFORMANCE OFF ROAD RACER

Parts code

1825556
9335449
0004432
51366
51250
51251

51367
9000093
9115244
9115236
51368
0115065
9225056
50598
9005859
51369

55T Diff. Gear (MG1)

*1

*1

*1
*1

Body

Chassis

A Parts (A1-A5)

DF-03Ra B Parts (Damper Stay) (B1-B3)
DF-03 C Parts (Front Upright) (C1-C6)
DF-03 D Parts (Hub Carrier & Rear Upright)
(D1-D5, 1 pc.)

DF-03 E Parts (Sus. Arm) (E1-E3, 1 pc.)

H Parts (H1-H7)

J Parts (J1-J4)

M Parts (M1-M6, M8-M12)

DF-03Ra N Parts (Body Mount) (N1-N6)

P Parts (P1-P7)

Q Parts (Q1-Q3, 2 pcs.)

CVA Mini Shock Unit Il V Parts (V1-V11, 2 pcs.)
LED Stopper (2 pcs.)

DF-03Ra Spur Gear Set

x1 75T Spur Gear (MG2)

78T Spur Gear (MG3) x1

51247

24T Bevel Gear (BG1)

DF-03 Bevel Gear Set
x1 34T Bevel Gear (BG2)

22T-34T Bevel Gear (BG3) x1 Bevel Diff. Gear (BG4)

0440193
51007

3485153
0444123
50476

9400842
9400843
9400844
9400886
9804159
9805636
9804200
50577

50581

9949350

50576
50038

9805557
9805976
2500024
51097
50380
50594
9808063
3580055
9804205
53588
53587
9805922
9949300
53126
53008

"1
*1

Battery Cover

Urethane Bumper M (TT-01, TGS)
Propelier Shaft

Wheels (2 pcs.)

Rally Block Tires (2 pcs.)

Metal Parts Bag A

Metal Parts Bag B

Metal Parts Bag C

Metal Parts Bag (for Body)

3x10mm Screw (MA1 x10)

3x6mm Screw (MA2 x2)

3x10mm Countersunk Head Screw (MA3 x10)
3x10mm Tapping Screw (MA4 x10)
3x12mm Countersunk Tapping Screw (MA5 x10)
2x25mm Cap Screw & 2mm Lock Nut
(MA6 & MAJY, 2 pcs. each)

3mm Grub Screw (MA7 x10)

Tool Set

(Box Wrench, 1.5mm Hex Wrench, MA7 x4)
4mm Flange Lock Nut (MA8 x4)
3x46mm Screw Pin (MA10 x4)

3x18mm Threaded Shaft (MA11 x1)
2.6x10mm Screw Pin (MA12 x2)

E-ring Set (MA13 x7, MC5 x12...etc.)
2x10mm Shaft (MA14 x10)

3x31mm Shaft (MA15 x2)

5x40mm Pipe (MA16)

5mm Ball Connector (MA17 x4)

10mm Shim Set (MA18 x10...etc.)

5mm Shim Set (MA19 x10...etc.)

Diff. Sponge (MA20 x10)

620 Ball Thrust Bearing (MA21 x2)

1510 Sealed Ball Bearing Set (MA22 x2)
1150 Sealed Ball Bearing Set (MA23 x4)

x1

x1
x1

Parts code

51239
51090
53030
9994386
9949299
9805736
50823
50880
50883
3485151
3485152
50875
9808060
3455944
53923
51370
4305125
9805977
9805629
50578
50586
9808062
51100
50882
51101
9804243
9805185
9808059
9808207
9805898
50575
9805684
50588
9805548
50600
50597
5305082
3455951
9805826
9805702
50197
3455945
9805859
9805754
9808058
9804206
9805240
2990027
50171
50595
53042
87099
53689

0409 ©2008 TAMIYA

*1
*1
*1

"1

*1

*1

1050 Ball Bearing Set (MA24 x4)

950 Ball Bearing (MA25 x4)

850 Sealed Ball Bearing Set (MA26 x4)
830 Ball Bearing Set (MA27 x2)

Bali Diff. Spring (MA29 x2)

Diff. Housing Plate (MA30 x2)

TG10 Wheel Axle (MA31 x2)

TAO04 Ball Diff. Plate Set (MA32 x2)
39mm Drive Shaft Set (MA33 x2)

Main Shaft (MA34)

Bevel Shaft (MA35 x1)

5mm Ball Connector (MA36 x8)

Rear Diff. Joint L & R (MA37 & MA38)
Spur Bushing (MA39)

05 Module Pinion Gear (27T, 29T) (MA40...etc.)
05 Module Pinion Gear (32T) (MA41)
Motor Plate (MA42)

3x12mm Countersunk Head Screw (MB1 x5)
3x12mm Tapping Screw (MB2 x4)
3x10mm Countersunk Tapping Screw (MB3 x10)
3mm Washer (MB4 x15)

3x28mm Shaft (MB5 x2)

TB Evolution |V 4.6x4.7mm Flanged Tube (MB6 x2)
TA04 King Pin Set (MB7 x4)

TB Evolution IV Ball-Head King Pin (MB8 x2)
630 Ball Bearing (MBS x2)

850 Metal Bearing (MB10 x2)

Front Diff. Joint L & R (MB11 & MB12)
Steering Post (MB13 x2)

3x12mm Screw (MC1 x10)

2.6x10mm Tapping Screw (MC3 x5)
3x12mm Screw (MC4 x2)

2mm E-ring (MC5 x15)

Piston Rod (MC6 x2)

CVA Mini Shock Unit Il Oil Seal (MC7 x6)
Damper O-ring (Red, MC8 x10)
3x117mm Threaded Shaft (MC9 x1)
Battery Stopper Pin (MC10)

Coil Spring (MC11 x2)

6mm Snap Pin (MC12 x10)

Snap Pin Set (Large x10, Small x5)

Gear Box Plate

3x15mm Screw (4 pcs.)

3x8mm Tapping Screw (10 pcs.)

2x6mm Tapping Screw (10 pcs.)

5mm Ball Connector Nut (4 pcs.)

3mm O-ring (Black, 7 pcs.)

2mm Hex Wrench

Heat Resistant Double-Sided Tape
Nylon Band w/Metal Hook (10 pcs.)

Ball Diff. Grease

Cera-Grease HG

540-J Motor

TAMIYA

TAMIYA,INC. 3-7 ONDAWARA, SURUGA-KU, 422-8610 JAPAN




